Woodhouse Primary School: written methods
Year group: 3

Method: Column addition up to 3 digits (HTU)

Questions

Without regrouping With regrouping
. 505 + 232 = [I. 560 + 234 =
2. 125 + 623 = 2. 137 + 522 =
3. 607 + 22| = 3. 304 + 479 =
L, 721 + |48 = [4. 235 + 352 =
5. 522 + |54 = 5. 755 + |4] =
6. 263 + 25 = 6. 775 + 19 =
/. 232 + 664 = 7. 515 + 292 =
8. 82 + 217 = 8. 678 + |6l =
9. 367 + 520 = 9. 782 + 109 =
0. 476 + 203 = 20.704 + |57 =




Answers

Without regrouping

With regrouping

. 505 + 232 =737

[.

560 + 234 = 794

2. 125 + 623 = 748 2. 137 + 522 = 659
3. 607 + 22| = 828 3. 304 + 479 = 783
L., 721 + 148 = 869 4. 235 + 352 = 587
5. 522 + |54 = 676 5. 755 + [4] = 896
6. 263 + 25 = 288 6. 775 + 19 = 794

/. 232 + 664 = 896 7. 515 + 292 = 807
8. 82 + 217 = 299 8. 678 + |61 = 839
q9. 367 + 520 = 887 9. 782 + 109 = 84|

0. 476 + 203 = 679

20.704 + |57 = 86l




